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Example: 3.51 Discuss the nature of solutions of the following quadratic equations.

10TH MATHS QUADRATIC GRAPH SOLUTION

QUADRATIC GRAPH EM NEW (2024 - 2025)

(i) x?+x—-12=0 (i)x>—8x+16=0 (ii)x?+2x+5=0
Solution:
() y=x*+x—-12 2 ax>+bx+c=0
% = _71 = —0.5 (between -1 to 0 take left 3 point right 3 point)
X -4 -3 -2 -1 0 1 2 3
x? 16 9 4 1 0 1 4 9
+x -4 -3 -2 -1 0 1 2 3
-12 -12 -12 -12 -12 -12 -12 -12 -12
y 0 -6 -10 -12 -12 -10 -6 0

Plot the points : (-4, 0), (-3, -6), (-2, -10), (-1, -12), (0, -12), (1, -10), (2, -6), (-4, 0), (3, 0).

~» The Quadratic Equation x? + x — 12 = 0 has Real and Unequal Roots.

Scale:
X axis 1 cm = 1 unit.
Y axis'1 cm = 2 units.

=2

12

13 14 15

Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
SINGAMPUNARI SVG DT - 630502

=6

(1,-10)

Y. SEENIVASAN. M.Sc, B.Ed - PG TEACHER (MATHS) - 8489880553 EM NEW(2024-2025)

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com



https://www.youtube.com/@Padasalai-net
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net

www.Trb Tnpsc.Com

Y. SEENIVASAN. M.Sc, B.Ed - PG TEACHER (MATHS) - 8489880553 EM NEW(2024-2025)

() y=x2—-8x+16=>ax’+bx+c=0

% = % = 4 (between 4 Left 3 Point and Right 3 point)
X 1 2 3 4 5 6 7
x? 1 4 9 16 25 36 49
-8x -8 -16 -24 -32 -40 -48 -56
+16 16 16 16 16 16 16 16
y 9 4 1 0 1 4 9
Plot the points : (1, 9), (2, 4), (3, 1), (4, 0), (5, 1), (6, 4), (7, 9).
». The Quadratic Equation x? — 8x + 16 = 0 has Real and Equal Roots.
Y
1
Scale:

16

14

12

10

X axis 1 cm = 1 unit.
Y axis 1 cm = 2 units.

(7,9)

(6,4)

y=a’>—8x+16

2
(3,1) (5,1)
111 -10 9 -8 -7 6 5 4 -3 2 -1 1 2 3 4 6 7 8 9 10 11 12 13 14 15 16
X : (4,0) X
|G
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(i) y=x2+2x+5=0=>ax>+bx+c=0

_b_

2a

-2

2

= —1 (between -1 Left 3 Point and Right 3 point)

X -4 -3 2 -1 0 2
X2 16 9 4 1 0 4
+2x -8 -6 -4 2 0 4
+5 5 5 5 5 5 5
y 13 8 5 4 5 13

Plot the points : (-4, 13), (-3, 8), (-2, 5), (-1, 4), (0, 5), (1, 8), (2, 13).
»» The Quadratic Equation x? — 8x + 16 = 0 has No Real Roots.

Scale:
X axis 1 cm = 1 unit.
Y axis 1 cm = 2 units.

(2,13)

(1,8)

y = zf H2z[+ 5

(—2
)
(0,5)
(_19 4)
2 -
-l @ —
-9 -8 -7 6 5 4 -3 2 -1 1 2 3 4 5 66 7 8 9 10 11
/ .
X Y. SEENIVASAN. M.S¢, B.Ed X
PG - TEACHER (MATHS)
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VY
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Example: 3.52 Draw the graph of y = 2x? and hence solve 2x* —x — 6 = 0.

Solution:
Given,y=2x?=ax*+bx+c=0
% = g = 0 (between 0 Left 3 Point and Right 3 point)
X -3 -2 -1 0 1 2 3
x? 9 4 1 0 1 4 9
Y = 2x? 18 8 2 0 2 8 18

Plot the points : (-3, 18), (-2, 8), (-1, 2), (0,0), (1, 2), (2, 8), (3, 18)

Solve :
y = 24*
— P2 o
0=fx"—-x—-06 Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
G ™ SINGAMPUNARI SVG DT - 630502
y= x +6
y=x+6
X -3 -2 -1 0 1 2 3
+6 6 6 6 6 6 6 6
Y=x+6 3 4 5 6 7 8 9
Plot the Points : (-3, 3), (-2, 4), (-1, 5), (0,6), (1, 7), (2, 8), (3, 9)
= The solution set of Equation 2x? — x — 6 = 0 has {—1.5, 2}.
Scale:

X axis I cm = 1 unit.

Y axis I cm = 2 units.

B o o o o o e o
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Example: 3.53 Draw the graph of y = x2 + 4x + 3 and hence solve x> + x + 1 = 0.

Solution:
Given,y=x*+4x+3>ax?+bx+c=0
% = _74 = —2 (between -2 Left 3 Point and Right 3 point)
X -5 -4 -3 -2 -1 0 1
x2 25 16 9 4 1 0 1
+4x -20 -16 -12 -8 -4 0 4
+3 +3 +3 +3 +3 +3 +3 +3
y 8 3 0 -1 0 3 8
Plot the points : (-5, 8), (-4, 3), (-3, 0), (-2,-1), (-1, 0), (0, 3), (1, 8)
Solve :
y=x7+4x+3
0=/x*+x+1 Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
) ) ) SINGAMPUNARI SVG DT - 630502
y= 3x +2
y= 3x +2
X -4 -3 -2 -1 0 1
3x -12 -9 -6 -3 0 3
+2 +2 +2 +2 +2 +2 +2
y -10 -7 -4 -1 2 5
Plot the Points : (-4, -10), (-3,

'7)a (-2, '4)’ ('19'1)’ (0, 2)3 (13 5)

- The solution set of Equation x* + x + 1 = 0. has No Real Roots.
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y=3x+2

Scale:
X axis I cm = 1 unit.

Y axis 1 cm = 2 units.
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Example: 3.54 Draw the graph of y = x? + x — 2 and hence solve x* + x — 2 = 0.

Solution:
Given,y=x>+x—2 2 ax’+bx+c=0
% = _71 = —0.5 (between -1 to 0 Left 3 Point and Right 3 point)
X -4 3 2 1 0 1 2 3
x2 16 9 4 1 0 1 4 9
+x -4 -3 -2 -1 0 1 2 3
-2 -2 -2 -2 -2 -2 -2 -2 -2
y 10 4 0 -2 -2 0 4 10
Plot the pOiIltS : ('49 10)7 ('39 4)3 ('29 0)3 ('19'2)9 (09 '2)9 (19 0)9 (23 4)9 (39 10)
Solve :
y=x*fx/2
0= +4-2 Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
(_) (_) (+) SINGAMPUNARI SVG DT - 630502
y=0
(_4’ 10) | ¥ Scale:
19 (3, 10) : + X
X axis 1 cm = 1 unit.
Y axis 1 cm = 2 units.
8 o
(2,4)
Y= (1a O)
|
—IOX—,9—8—7—6—5—4 3 4 5 6 7 8 9 10 |
b= 2’ +x—2 i
—4

L
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Example: 3.55: Draw the graph of y = x* — 4x + 3 and hence solve x* — 6x + 9 = 0.

Solution:
Given,y =x*—4x+3 2 ax’?+bx+c=0
% = % = 2 (between 2 Left 3 Point and Right 3 point)
X -1 0 1 2 3 4 5
x? 1 0 1 4 9 16 25
-4x 4 0 -4 -8 -12 -16 -20
+3 +3 +3 +3 +3 +3 +3 +3
y 8 3 0 -1 0 3 8
Plot the points : (-1, 8), (0, 3), (1, 0), (2,-1), (3, 0), (4, 3), (5, 8)
Solve :
y=x/—4x+3
_ 2 Y. SEENIVASAN. M.Sc, B.Ed
0=/f"—6x+9 PG - TEACHER (MATHS)
G @ 6 SINGAMPUNARI SVG DT - 630502
y= 2x—6
y= 2x—6
X -1 0 1 2 3 4
2x -2 0 2 4 6
-6 -6 -6 -6 -6 -6 -6
y -8 -6 -4 -2 0 2

Plot the Points : (-1, -8), (0, -6), (1, -4), (2,-2), (3, 0), (4, 2).
= The solution set of Equation x? — 6x + 9 = 0 has {3} only .

y=2xr—6

Scale:
X axis 1 cm = 1 unit.

Y axis I cm = 2 units.
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Exercise: 3.16 Graph the following quadratic equations and state the nature of solutions.
(i)x2—9x+20=0 (ii)x> —4x+4=0 (ii)x2+x+7=0 (iv)x2—-9=0

(V)x2—6x+9=0 (vij(2x—3)(x+2)=0

Solution:
Dy=x2—9x+4+20 2 ax?+bx+c=0
% = % = 4.5 (between 4 to 5 take left 3 point right 3 point)
X 1 2 3 4 5 6 7 8
x? 1 4 9 16 25 36 49 64
- 9x -9 -18 =27 -36 -45 -54 -63 -72
+20 +20 +20 +20 +20 +20 +20 + 20 +20
y 12 6 2 0 0 2 6 12
Plot the points : (1, 12), (2, 6), (3, 2), (4, 0), (5, 0), (6, 2), (7, 6), (8, 12).
»» The Quadratic Equation x? — 9x + 20 = 0 has Real and Unequal Roots.
Y
Scale:
127 (1,12) (8,12) X axis 1 cm = 1 unit.
Y axis 1 cm = 2 units.
101
8 E
6] (7,6)
4
Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
SINGAMPUNARI SVG DT - 630502
20 (6,2)
y = a® — 9z + 20
-
—2, -1 0 1 2 3 4 5 6 7 8 9 10 11 12 14 15
X . (4,0) (5,0) X
A
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()y=x>—4x+4=0>ax’+bx+c=0

% = % = 2 (between 2 take left 3 point right 3 point)
X -1 0 1 2 3 4 5
x? 1 0 1 4 9 16 25
-4x 4 0 -4 -8 -12 -16 -20
+4 +4 +4 +4 +4 +4 +4 +4
y 9 4 1 0 1 4 9
Plot the points : (-1, 9), (0, 4), (1, 1), (2, 0), (3, 1), (4, 4), (5, 9).
~ The Quadratic Equation x? — 4x + 4 = 0 has Real and Equal Roots.
Scale:

(5,9)

X axis 1 cm = 1 unit.

Y axis 1 cm = 2 units.

Y. SEENIVASAN. M.Sc¢, B.Ed
PG - TEACHER (MATHS)
SINGAMPUNARI SVG DT - 630502
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(i)y=x2+x+7=0>ax?+bx+c=0

L _71 = —0.5 (between -1 to 0 take left 3 point right 3 point)

2a

X -4 -3 -2 -1 0 1 2 3
x? 16 9 4 1 0 1 4 9
+x -4 -3 -2 -1 0 1 2 3
+7 +7 +7 +7 +7 +7 +7 +7 +7

y 19 13 9 7 7 9 13 19

Plot the points : (-4, 19), (-3, 13), (-2, 9), (-1, 7), (0, 7), (1, 9), (2, 13), (3,19).
»» The Quadratic Equation x? + x + 7 = 0 has No Real Roots.

Scale:
(2,13) Xaxis I.cm=1 unit.
Y axis I cm = 2 units.

(1,9)
2
b =RE
(0,7)
2
(_ 17 7); ]
4 .
Y. SEENIVASAN. M.S¢, B.Ed
PG - TEACHER (MATHS)
27 SINGAMPUNARI SVG DT - 630502
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(iv)yy=x2—-9=0>ax’+bx+c=0

;—2 = g = 0 (between 0 take left 3 point right 3 point)
X -3 -2 -1 0 1 2 3
x? 9 4 1 0 1 4 9
-9 -9 -9 -9 -9 -9 -9 -9
y 0 -5 -8 -9 -8 -5 0

Plot the points : (-3, 0), (-2, -5), (-1, -8), (0, -9), (1, -8), (2, -5), (3, 0).
». The Quadratic Equation x2 —9 = 0 has Real and Unequal Roots.

Y 6-‘ Scale:

X axis 1 cm =1 unit.

Y axis 1 cm = 2 units.

4.
2.
i (=3,0) (3,0)
-9 8§ -7 6 -5 4 -§ -2 -10 2 4 S 6 7 8 9 10
X’ ' X
51

( 2  — 9 )
2
y——=-p-—Jd
L RS 8 )
Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
=101 SINGAMPUNARI SVG DT - 630502
Y’
~12 Y
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Vy=x>—6x+9=0 >ax’+bx+c=0

;—Z = % = 3 (between 3 take left 3 point right 3 point)

X 0 1 2 3 4 5 6
x? 0 1 4 9 16 25 36
-6x 0 -6 -12 -18 -24 -30 -36
+9 +9 +9 +9 +9 +9 +9 +9
y 9 4 1 0 1 4 9

Plot the points : (0, 9), (1, 4), (2, 1), (3, 0), (4, 1), (5, 4), (6, 9).
~ The Quadratic Equation x? — 6x + 9 = 0 has Real and Equal Roots.

Scale:
X axis I cm =1 unit.
Y axis 1 cm = 2 units.

LTS
p,

-2

s 6 7 8 9 10 11 12

Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
SINGAMPUNARI SVG DT - 630502

[y
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vi)y=0Q2x—-3)(x+2)=2x>+4x—-3x—6=2x>+x—-6=0 = ax’+bx+c=0

;—Z = 2;12 = —71 = —0.25 (between -1 to 0 take left 3 point right 3 point).

X 4 3 2 -1 0 1 2 3
2x? 32 18 8 2 0 2 8 18
+x -4 -3 -2 -1 0 1 2 3
-6 -6 -6 -6 -6 -6 -6 -6 -6

y 22 9 0 -5 -6 -3 4 15

Plot the points : (-4, 22), (-3, 9), (-2, 0), (-1, -5), (0, -6), (1, -3), (2, 4), (3, 15).
». The Quadratic Equation (2x — 3)(x + 2) = 0 has Real and Unequal Roots.

Scale:
X axis I cm = 1 unit.

Y axis I cm = 2 units.

(1a _3)

Y=+ (dr 4.3){z+2)

(0 6 ) Y. SEENIVASAN. M.Sc, B.Ed
7| PG — TEACHER (MATHS)
SINGAMPUNARI SVG DT - 630502
_8
Y7 v
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hilxercise: 3.16) 2) Draw the graph of y = x% — 4 and hence solve x* — x — 12 = 0.

Solution:
Given,y=x*—-4 = ax>+bx+c=0
% = g = 0 (between 0 Left 3 Point and Right 4 point)

X -3 2 -1 0 1 2 3
x? 9 4 1 0 1 4 9
-4 -4 -4 -4 -4 -4 -4 -4

y 5 0 -3 -4 -3 0 5

Plot the points : (-3, 5), (-2, 0), (-1, -3), (0,-4), (1, -3), (2, 0), (3, 5)
Solve :
Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
0@ ® SINGAMPUNARI SVG DT - 630502
y= x+8 y= x+8

X -3 -2 -1 0 1 2 3 4

8 8 8 8 8 8 8 8 8

Y 5 6 7 8 9 10 11 12

Plot the Points : (-3, 5), (-2, 6), (-1, 7), (0,8), (1, 9), (2, 10), (3,11).
= The solution set of Equation x? — x — 12 = 0 has {—3, 4}.

y=z+8

Scale:
11) X axis 1 cm =1 unit.
Y axis 1 cm = 2 units.

4 5 6 7 8 9 10 11 12 13
X

- -
948 -7 6 5 4 -3 -} -1
X’

=6

—8' Y’
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Exercise: 3.16) 3) Draw the graph of y = x? + x and hence solve x* + 1 = 0.

Solution:
Given,y=x*+x 2 ax’>+bx+c=0
% = _71 = —0.5 (between -1 to 0 Left 3 Point and Right 3 point)
X -4 -3 -2 -1 0 1 2 3
2 16 9 4 1 0 1 4 9
+x -4 -3 -2 -1 0 1 2 3
y 12 6 2 0 0 2 6 12
Plot the points : ('49 12), ('39 6)a ('23 2), ('190)9 (03 0)9 (19 2)9 (29 6)9 (39 12)
Solve :
y = x*+ x
0=4*+0x+1 Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
ORONO SINGAMPUNARI SVG DT - 630502
y= x—1
y= x—1
X -4 -3 -2 -1 0 1 2 3
-1 -1 -1 -1 -1 -1 -1 -1 -1
Y -5 -4 -3 -2 -1 0 1 2

Plot the Points : (-4, -5), (-3, -4), (-2, -3), (-1,-2), (0, -1), (1, 0), (2,1), (3, 2).

- The solution set of Equation x? + 1 = 0 has No Real roots.

Scale:
X axis I cm =1 unit.
(3, 12) Y axis 1 cm = 2 units.

9 10 11 12
(07_1) X
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Exercise: 3.16) 4) Draw the graph of y = x? + 3x + 2 and hence solve x* + 2x + 1 = 0.

(2,12)

X axis 1 cm =1 unit.

Y axis 1 cm = 2 units.

Y. SEENIVASAN. M.Sc, B.Ed - PG TEACHER (MATHS) - 8489880553 EM NEW(2024-2025)
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Solution:
Given,y =x*+3x+2 2 ax’?+bx+c=0
% = _73 = —1.5 (between -2 to -1 Left 3 Point and Right 3 point)
X -5 -4 -3 -2 -1 0 1 2

x? 25 16 9 4 1 0 1 4

+3x -15 -12 -9 -6 -3 0 3 6

+2 +2 +2 +2 +2 +2 +2 +2 +2

y 12 6 2 0 0 2 6 12

Plot the points : (-5, 12), (-4, 6), (-3, 2), (-2,0), (-1, 0), (0, 2), (1, 6), (2, 12).
Solve :
y = x%+3x +2
) Y. SEENIVASAN. M.Sc, B.Ed
0=4"+2x+1 PG — TEACHER (MATHS)
SINGAMPUNARI SVG DT - 630502
QIONO
y= x+1
y= x+1
X -4 -3 -2 -1 0 1 2
+1 +1 +1 +1 +1 +1 +1 +1
Y -3 -2 -1 0 1 2 3
Plot the Points : (-4, -3), (-3, -2), (-2, -1), (-1, 0), (0, 1), (1, 2), (2,3).
= The solution set of Equation x? + 2x + 1 = 0 has {—1}.
Scale:
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Exercise: 3.16) 5) Draw the graph of y = x? + 3x — 4 and hence solve x* + 3x — 4 = 0.

Solution:
Given,y=x?>+3x—4 2 ax’+bx+c=0
% = _73 = —1.5 (between -2 to -1 Left 3 Point and Right 3 point)
X -5 -4 -3 -2 -1 0 1 2
x? 25 16 9 4 1 0 1 4
+3x -15 -12 -9 -6 -3 0 3 6
-4 -4 -4 -4 -4 -4 -4 -4 -4
y 6 0 -4 -6 -6 -4 0 6
Plot the points : (-5, 6), (-4, 0), (-3, -4), (-2,-6), (-1, -6), (0, -4), (1, 0), (2, 6).
Solve :

y=x2+3f—4

0= x24/3x—4
Y. SEENIVASAN. M.Sc, B.Ed
() () PG - TEACHER (MATHS)
SINGAMPUNARI SVG DT - 630502

y=20

= The solution set of Equation x% + 3x — 4 = 0 has {—4, 1}.

Y A Scale:
101 X axis 1 cm = 1 unit.

Y axis 1 em =2 units.

y=10

il (1,0)
004 LoHIsHI HI6 HLs 2 3 4 5 6 71 8 9 1
X'’ X]
(_3 (Oa_4>
=12=-3a—H

(2% teql, —6)

Y'Y
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Exercise: 3.16) 6) Draw the graph of y = x?2 — 5x — 6 and hence solve x2 — 5x — 14 = 0.

Solution:
Given,y =x*—-5x—6 = ax’+bx+c=0
% = % = 2.5 (between 2 to 3 Left 4 Point and Right 4 point)
X -2 -1 0 1 2 3 4 5 6 7
x? 4 1 0 1 4 9 16 25 36 49
-5x 10 5 0 -5 -10 -15 -20 -25 -30 -35
-6 -6 -6 -6 -6 -6 -6 -6 -6 -6 -6
y 8 0 -6 -10 -12 -12 -10 -6 0 8
Plot the pOiIltS : ('29 8)9 ('19 0)9 (09 '6)a (19'10)9 (23 '12)9 (39 '12)9 (43 '10)9 (59 '6)9(69 0)9 (79 8)
Solve :
y=xf—px—6
0=A2/L5x— 14 Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
(_) (+) (+) SINGAMPUNARI SVG DT - 630502
y= 8

~ The solution set of Equation x2 — 5x — 14 = 0 has {—2,7}.

A Y Scale:
19 X axis I cm = 1 unit.
(—-2,8 (7,8) Y axis 1 cm = 2 units.
y=38 ;
) 4 :
o :
9 8 -7 6 -5 -4 -3 2 - 8 9 10 11 12 13 14 15 1
X X

_14Y YI
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Exercise: 3.16) 7) Draw the graph of y = 2x? — 3x — 5 and hence solve 2x* — 4x — 6 = 0.

Solution:
Given,y =2x*—-3x—-5 2 ax’+bx+c=0
% = % = % = 0.75 (between 0 to 1 Left 3 Point and Right 3 point)
X -2 -1 0 1 2 3 4 5
x? 8 2 0 2 8 18 32 50
-3x 6 3 0 -3 -6 -9 -12 -15
-5 -5 -5 -5 -5 -5 -5 -5 -5
y 9 0 -5 -6 -3 4 15 30
Plot the points : (-2, 9), (-1, 0), (0, -5), (1,-6), (2, -3), (3, 4), (4, 15), (5, 30).
Solve :
y=2x—3x—5
0= 2% —4x—6 Y. SEENIVASAN. M.Sc, B.Ed
PG - TEACHER (MATHS)
O ) &) SINGAMPUNARI SVG DT - 630502
y= x+1
y= x+1
X -2 -1 0 1 2 3 4 5
+1 +1 +1 +1 +1 +1 +1 +1 +1
Y -1 0 1 2 3 4 5 6

Plot the Points : (-2, -1), (-1, 0), (0, 1), (1, 2), (2, 3), (3, 4), (4,5), (5,6).
= The solution set of Equation 2x* — 4x — 6 = 0 has {—1, 3}.

Y 16‘ Scale:
(4, 15) X axis 1 cm = 1 unit.
=Hzd1

& Y axis 1 cm = 2 units.

12

10
(_279*
8
; (5,6)
(4,5)

e gAY
hk:

2

(=Lo}/10.1) Ji
-8 -7 6 5 4 -3 -24- 1 203 4 5 6 7 8 9 10 11 12 13 14 15 16 17
X' (—2/°1) X

(27_3>
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Exercise: 3.16) 8) Draw the graph of y = (x — 1)(x + 3) and hence solve x* —x — 6 = 0.

Solution:

Given,y=(x—-1)(x+3)=x*+3x—x—-3=x*+2x—-3 2ax?+bx+c=0

—2 = =2 = —1 (between 1 Left 3 Point and Right 4 point)
X -4 -3 -2 -1 0 1 2
x2 16 9 4 1 0 1 4
+2x -8 -6 4 -2 0 2 4
-3 -3 -3 -3 -3 -3 -3 -3
y 5 0 3 4 3 0 5
Plot the points : (-4, 5), (33, 0), (-2, -3), (-1,4), (0, -3), (1, 0), (2, ).
Solve :
y = x%+ 2x -3
0=/x*-x=6 b TEACHER (VIATHS)
(_) ( +) ( +) SINGAMPUNARI SVG DT - 630502
y= 3x+3
y= 3x+3
X -4 -3 -2 -1 0 1 2 3
3x 12 9 -6 3 0 3 6 9
+3 +3 +3 +3 +3 +3 +3 +3 +3
y -9 6 3 0 3 6 0 | 12

Plot the Points : (-4, -9), (-3, -6), (-2, -3), (-1, 0), (0, 3), (1, 6), (2,9), (3,12).

~. The solution set of Equation x* — x — 6 = 0 has {—2,3}.

y-=-35-+3
Scale:
X axis I cm =1 unit.

Y axis 1 cm = 2 units.

(1720)3 4 5 6 7 8 9 10 11 12
vz 1 10 (g +13) i
(0773)

4)
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